O«A‘Hf-\z ot So\u'l.'lbhs
10) ged(14,20) =1 = 14 %=1 has o solution

" Zhaz
od hoe method -
2ri84x =2 = -x=2
= x=-2=2F.
b) 9d(Z,8)=1 =¢ Fa=4 has avbbin in
Z/\gz

(E'V\:‘lcl AA-\GOV l.'g\"\\
1= Fx2 +4 =% Y=-Fx2+ 3

F=4x1+3 =r J=_-41+%
4 =3 21+ = 1 =_3:x1+4%

——-')- :L = —3%1-\-4
= -(—L\' xi-\n?)-\-“‘: L"XZ—.‘ZX
(-7&21-\%):2 - Fxi

= «aFTxS +\Qx2
]

Fx=4 =¢r -5x%F o« =-5x4




=y X = -20=\6
c) %cé(l‘i',Sé):Z |8 = l4x="1 has

6 \
4 x =% 79(-=§.’-\'

3
=y x=16 (fut k)
=y X =16 or 34 in Z/SCZ.

d) oed (14,20) =2 §1 = Wn=l hao no soluio
"2
9. Wm
Fust Check iR it hns o Solwtim .
9ed(24,53)=1 |3V
Second  Use Euclid N(aSmHm 1o Find & solution.
53= 29«14 24 —& 24--29x1+53
29 = 244145 =y S =-Md +29
24 = S5x4 +4 = 4 =-5x4 +24
5 = 4x1+1 = 1 =-4«1 +5




1- _4:1 45
= —(-Sx4+24)+5 = 5«5 - 24
= (-24xA+29)25 -24=-24+6 + 2955
=-(-29x1 +53)x € + 29«5
= 211 -3S3 »€

=t X=-6€x3=-18 ond Y =10x3=33
2o o Soluhim ot S3x+29Y=3 .
Tad “Fund oll the Slutions.
A=A +29 1
i“a-_-.- 4,531
Foth Tl Pre min .
\xl= |13 +24 ¢\ =i

'?'of Owuo'\:e-lz_‘

24 £t -\ 24

% =29t <o
%)= 13353 +) = 53t -33 124
23 -53t 1 <o



321+ -51, 21
= \’X|+|“A\=

51 —B2t, t<o

1!_ £24, P mum = B2_51 = 2|
4 t<o, themim = 51

Do i (x| = 31 omd the ec\uo\l."\:\é
holds i# x=1 ond Y= -20.

W

m

Pwve gd (Fod, L)t 3} num.
&o_‘?'_- Without loss ¥ ae.nefa\i‘\?a we il assume
m¢ n.
Lt d = au\ (2. 1,2 +1)
il —-1 (med d) o 2 = -4 (vad ).
On the other hond, Z =2

(TC\Q.&"?'O’Q- ié-i, re. d |2 .Since c“?‘.zj-il

d is OJJ.HQMCC. d=1.
WW



?
&) X=1 am Z/PZ*_-\" x =1
d=r P \fx-z-:l.—_- (-1 (x+1)
= Pla-1 v x+i
—y xel v x=-1.
A7 AX=1 am Z/vz'
o G, )=1
L) Vae Z/Pz\g.g : 3“[( P =
3';(,«322, X +PY =1="
3 xe Z , aX =1 Cnd p)
= O\IG‘(%/ / 0\0\’:1 .
PZ
(T quafhtén s en(w'\mm e o
MICPAECAMN D
Moveover ..% O\O\,|=i=0\0\'2_ , Uaam
0: =al.1 =0\.'(e\a'z)= (0(0\)0\; =1.o\;_=o(2.
Do 2ueh of 16 wniue -
c) Frm @ omd © , e comclude thad
o i : 1V, 3 VAT-J
orned aez/‘,z\ii hoo O UNAAL.



ol omd ol=za »-%%- =21

~— P P
o 1.2.3. - -)=1.(3-2) = -1 .

Prve T * 2.“-1-1- %w oma Non-n Ve wvibexer N.
2+

o i 2 39
fﬁ.zél,z 2 ,2=4 ,2=1.

Thae me RelNy$el, we have
ng; ) _=_ i.

\/v\/\“fwvn\/v\-’m—/‘_"
TProve 3c¢‘(2 -1,2 -1): 2 -1.

. Letr o =n, o, =m omd  deRine Q. ‘s

m&‘a Eudid A\aon"\:\nm , e

O =0y q,+0,  ©£0,<0y

QL=&2—-$1-|-0\3 0S03<Q2.



—a. °o<L Q. <a..
&1’-‘.\.— Qi 11'-14- 0\1"*1 =P < ke

%= e R ° LOLKG
&, = N
By Euchd A\aon"chm we lenony Hhet
0, = 8cc! (m,n)

Noco 184 \'v\c\u\c\n'on, we P '\%o\‘\' ‘gw ny
,\:vas o " Prove O\tdx.

2 =1 (md d)

oheoe  d= aa(z"_i,i"-i).

Bose Cases : Dwnee d |2 -1 acd lzm—i, we

howe 2_%:-: 20\4.51 Cmed ).

Imduchion Step:
) CAt'_| 0N a‘llrl
Zo.)e.f?(ave. 2 =31 A2 =1 — 2 =1
(Ba Hhe above EC\mlthS wehave Yer |
G- A, %1‘_.* a‘t’-ﬂ Gy Gy
1=2" = 2 _(™) 2

= (1 )1\'-!- 2O\,;ﬂ = ?_o‘l'-o-:l. .
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So this prves that 4 | ch 1 D

OA 'Hne. oH\ex‘ mec‘ ,
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Y QedCmm

(4 fad(-.n\ 3““’“‘ 2 -1
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\ m A( \ (ng )

) F ey g 9 4
= (@) 1 .

a cc‘ (™o

Remce 2 -1 2S o CommOn c‘n'vfsof cf‘?'

2"-1 and 24 . r“\mgoft
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@,@ = d= %d(mh‘_i. A



